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import numpy as np
import matplotlib.pyplot as plt

# A
X = np.arange(@, 6, 0.1) # # 0% 6 11 0.1 4% &4 A4
y = np.sin(x)

# A K
plt.plot(x, y)
plt.show()
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def sigmoid(x):
return 1 / (1 + np.exp(-x))
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>>> X = np.array([-1.0, 1.0, 2.0])
>>> sigmoid(x)
array([ ©.26894142, ©.73105858, ©.88079708])
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>>> t = np.array([1.0, 2.0, 3.0])

>>> 1.0+t

array([ 2., 3., 4.])

>>> 1.0/ t

array([ 1. , 0.5 , ©.33333333])
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X = np.arange(-5.0, 5.0, 0.1)

y = sigmoid(x)

plt.plot(x, y)

plt.ylim(-0.1, 1.1) # X2y ey fH

plt.show()
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4-3 BARYH y=log s WEZ

AN 4-3 Fros - o Ry 1 BUIREE - y FHL 00 BB « @83 0 y (EAF & @K @/)s » K1 -
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BT - EEREBIT A NGRRAE
def cross_entropy_error(y, t):

delta = le-7
return -np.sum(t * np.log(y + delta))

518 y B t /2 NumPy %1 » 1T np.log M HEF - B E#l/NME delta FFETE -
1 np.log(@) IF - np.log(e) & % ok 3k & MEFRAHY -inf » B AL M LB ADESR - FT
DiA & hn E#uIME - Bifis R B MR RER - 82K - FIMFIA cross_entropy_
error(y, t) > HETTRTEAEE

>>>t=1[0, 0,1, 0, 0, 0, 0, 0, 8, 0]

>>> y = [0.1, 0.05, 0.6, 0.0, 0.05, 0.1, 0.0, 0.1, 0.0, 0.0]

>>> cross_entropy_error(np.array(y), np.array(t))

0.51082545709933802

>>>

>>> y = [0.1, 0.05, 0.1, 0.0, 0.05, 0.1, 0.0, 0.6, 0.0, 0.0]

>>> cross_entropy_error(np.array(y), np.array(t))

2.3025840929945458
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N = Pt P a
PO 1 3 a0=3 > o1—4 B » 5P a0 BOIRBR S 0 -
>>> def function_tmpl(x0):
return x0*x0 + 4.0**2.0

>>> numerical_diff(function_tmpl, 3.0)
6.00000000000378
s p d
IR 2 0 % o0=3 ;=4 1% 315 o RIS 7 -
>>> def function_tmp2(x1):

return 3.0%*%2,0 + x1*x1

>>> numerical_diff(function_tmp2, 4.0)
7.999999999999119






